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(| DEERT |1 mi 3LDK 1 1 10 1.0
2 2 EEQN 2LDK 0 0 0.0 0.0
3 3 ERN 3LDK 0 0 0.0 0.0
4 4 F21 2DK 0 0 0.0 0.0
5 5RE2 2DK 1 1 1.0 1.0
6 6 XEF4L 2LDK 1 1 1.0 1.0
7 1 REFE4 2LDK 3 4 3.0 4.0
8 8 REATE 3DK 0 0 0.0 0.0
9 9 BRI | 3LDK 0 0 0.0 0.0
10 10 BRI | 3LDK 0 0 0.0 0.0
11 11 [ERISEE | 3LDK 0 0 0.0 0.0
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13| — % 13 RETE 3DK 0 0 0.0 0.0
14 14 RETE 3DK 0 0 0.0 0.0
15 15 J\BF 2LDK 2 4 2.0 4.0
16 16 BRI | 3LDK 0 0 0.0 0.0
17 17 ERISES | 3LDK 6 22 60| 220
18 18 ERISLES | 3LDK 3 9 3.0 9.0
19 19 KFRET | 3LDK 1 5 1.0 5.0
=) 5t 18 47 0.9 2.5




